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FHREL INFIRE FE
R2 | R3 | R4 | R5 | R6 | R7 | RS
. m%g#fﬂ%& 6 5 5 5 5 4 5
REHK 71 63 62 62 49 46 49
, FHREL 6 6 6 6 6 5 5
5 Fik BREHK 62 61 64 62 57 60 58
N FHREL 5 5 5 5 5 6 5
REHK 59 65 63 54 58 51 51
3%
] - FiREK 3 3 3 4 3 3 4
REHK 32 27 28 26 24 20 25
4 245 , (- FHRER 5 5 5 5 5 5 4
REHK 63 56 52 56 57 49 46
2
. .- FHREL 4 4 4 4 4 4 3
REHK 40 41 36 35 34 36 31
, %%_liﬁﬁ 5 4 5 4 3 3 3
3 ik BREHK 47 42 43 34 26 20 20
, [ FHREL 2 2 2 2 2 3 3
REHK 7 4 4 6 8 9 13
3
T FHREL 3 3 3 2 2 2 2
2 Fik REHK 14 12 15 10 11 10 10
FH1&
;[ FiREK 2 1 1 1 1 2 1
1%k REHK 7 3 3 2 2 3 2
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